TO VALIDATE, GO TO Certificate Number: GI-COO-44533-660bfa89689df

VERIFY.FTGS.US Date: April 02, 2024

Port of Loading Transport Type Seller (Exporter) Vessel Los Angeles Healthy Green Life Corporation 43 Corporate Park **Destination Country Destination Port** Irvine China Qinadao CA USA **Export Date Exporting Carrier** 2024-03-15 Consignee Inner Mongolia Shengdehetai Trading Co., LTD Import Permit Number Bill of Lading / AWB Station 3E-028, Beixing Lianchuang Center, NAM6679820A Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 Owner or Agent Forwarding Agent China N/A N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1196 bales

Total: 481.081 MT



Description May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin	
lfalfa Hay	21.201 mt	United States	
Marks: CMAU7645768 52bales			
Ifalfa Hay	20.847 mt	United States	
Marks: CMAU7396623 52bales			
Ifalfa Hay	21.328 mt	United States	
Marks: FWRU0138465 52bales			
Ifalfa Hay	21.455 mt	United States	
Marks: APHU7275808 52bales	XXXXX XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX		
lfalfa Hay	21.119 mt	United States	
Marks: CMAU4754322 52bales			
lfalfa Hay	20.929 mt	United States	
Marks: SEGU4622737 52bales		DAY XXX	
Ifalfa Hay	20.729 mt	United States	
larks: CMAU6433050 52bales			



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein

TO VALIDATE, GO TO Certificate Number: GI-COO-44533-660bfa89689df

**VERIFY.FTGS.US** Date: April 02, 2024

Port of Loading Transport Type Seller (Exporter) Vessel Los Angeles Healthy Green Life Corporation 43 Corporate Park **Destination Country Destination Port** Irvine China Qinadao CA USA **Export Date Exporting Carrier** 2024-03-15 Consignee Inner Mongolia Shengdehetai Trading Co., LTD Import Permit Number Bill of Lading / AWB Station 3E-028, Beixing Lianchuang Center, NAM6679820A Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 Owner or Agent Forwarding Agent China N/A N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1196 bales Total: 481.081 MT



<b>Description</b> (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin	
Alfalfa Hay	21.101 mt	United States	
Marks: BMOU5417318 52bales			
ulfalfa Hay	20.53 mt	United States	
Marks: MAGU5476524 52bales			
Alfalfa Hay	20.983 mt	United States	
Marks: TCLU6571010 52bales			
Alfalfa Hay	20.711 mt	United States	
Marks: CMAU6397630 52bales			
Nfalfa Hay	20.893 mt	United States	
Marks: CMAU3866210 52bales			
Alfalfa Hay	20.484 mt	United States	
Marks: FFAU1615960 52bales			
Nfalfa Hay	21.337 mt	United States	
Marks: SEGU4213071 52bales			



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein

TO VALIDATE, GO TO Certificate Number: GI-COO-44533-660bfa89689df

**VERIFY.FTGS.US** Date: April 02, 2024

Port of Loading Transport Type Seller (Exporter) Vessel Los Angeles Healthy Green Life Corporation 43 Corporate Park **Destination Country Destination Port** Irvine China Qinadao CA USA **Export Date Exporting Carrier** 2024-03-15 Consignee Inner Mongolia Shengdehetai Trading Co., LTD Import Permit Number Bill of Lading / AWB Station 3E-028, Beixing Lianchuang Center, NAM6679820A Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 Owner or Agent Forwarding Agent China N/A N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1196 bales Total: 481.081 MT



<b>Description</b> (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Nfalfa Hay	21.373 mt	United States
Marks: BMOU4835041 52bales		
ulfalfa Hay	21.083 mt	United States
Marks: TRHU7827330 52bales		
Alfalfa Hay	21.101 mt	United States
Marks: TCNU2194718 52bales		
Alfalfa Hay	20.04 mt	United States
Marks: TLLU8140242 52bales		
Alfalfa Hay	20.72 mt	United States
Marks: BSIU9548604 52bales		
Alfalfa Hay	20.929 mt	United States
Marks: SEGU4752108 52bales		
Alfalfa Hay	21.174 mt	United States
Marks: BEAU4070446 52bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein



TO VALIDATE, GO TO Certificate Number: GI-COO-44533-660bfa89689df

**VERIFY.FTGS.US** Date: April 02, 2024

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading Los Angeles
Irvine	Destination Country	Destination Port
CA	China	Qingdao
USA		
Consignee Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China	Export Date 2024-03-15	Exporting Carrier N/A
	Import Permit Number N/A	Bill of Lading / AWB NAM6679820A
	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1196 bales Total: 481.081 MT



<b>Description</b> (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin	
Nfalfa Hay	20.611 mt	United States	
Marks: TRHU7152107 52bales			
Alfalfa Hay	20.403 mt	United States	
Marks: BEAU5206774 52bales			
end of products	=====		
	XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing
- of any inaccuracy, omission or change in such information, or in the origin of goods.

  -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.

#### **COMMERCIAL INVOICE**

Invoice No.

SD-202403011-1

Date:

3/15/24

### Shipper/Exporter:

Voyage No.:

Healthy Green Life Corp 1152 S Roughcut Dr Casa Grande, AZ 85194, USA Consignee:

INNER MONGOLIA SHENGDEHETAI TRADING CO.,LTD

Station 3E-028,

Beixing Lianchuang Center,

Hohhot Comprehensive Bonded Zone,

Huimin District, Hohhot,

Inner Mongolia

Vessel: PRESIDENT CLEVELAND

0DBHYW1MA

Shipping Line: CMA-CGM

Port of Loading: LOS ANGELES, CA

ETD: 3/15/24
Price Terms: CIF

Contract No.: SDHT-HGLC2024-1

Booking No.: NAM6679820A

Country of Origin: USA

Discharge: QINGDAO, China

**ETA**: 4/10/24

Container No.	Seal #	Product	Bales	Net Weight (MT)	Unit Price USD/MT	Amount (USD)
APHU7275808	A1513135	Alfalfa Supremi	52	21.455	\$435.00	\$9,332.92
BEAU4070446	A1518652	Alfalfa Supremi	52	21.174	\$435.00	\$9,210.69
BEAU5206774	A1518706	Alfalfa Supremi	52	20.403	\$435.00	\$8,875.31
BMOU4835041	A1513238	Alfalfa Supremi	52	21.373	\$435.00	\$9,297.26
BMOU5417318	A1513090	Alfalfa Supremi	52	21.101	\$435.00	\$9,178.93
BSIU9548604	A1513245	Alfalfa Supremi	52	20.720	\$435.00	\$9,013.20
CMAU3866210	A1513198	Alfalfa Supremi	52	20.893	\$435.00	\$9,088.45
CMAU4754322	A1513086	Alfalfa Supremi	52	21.119	\$435.00	\$9,186.76
CMAU6397630	A1513196	Alfalfa Supremi	52	20.711	\$435.00	\$9,009.28
CMAU6433050	A1513089	Alfalfa Supremi	52	20.729	\$435.00	\$9,017.11
CMAU6740694	A1513132	Alfalfa Supremi	52	21.500	\$435.00	\$9,352.50
CMAU7396623	A1513189	Alfalfa Supremi	52	20.847	\$435.00	\$9,068.44
CMAU7645768	A1513190	Alfalfa Supremi	52	21.201	\$435.00	\$9,222.43
FFAU1615960	A1513195	Alfalfa Supremi	52	20.484	\$435.00	\$8,910.54
FWRU0138465	A1513134	Alfalfa Supremi	52	21.328	\$435.00	\$9,277.68
MAGU5476524	A1518705	Alfalfa Supremi	52	20.530	\$435.00	\$8,930.55
SEGU4213071	A1513236	Alfalfa Supremi	52	21.337	\$435.00	\$9,281.59
SEGU4622737	A1513088	Alfalfa Supremi	52	20.929	\$435.00	\$9,104.11
SEGU4752108	A1513247	Alfalfa Supremi	52	20.929	\$435.00	\$9,104.11
TCKU7142899	A1513137	Alfalfa Supremi	52	20.185	\$435.00	\$8,780.47
TCLU6571010	A1518707	Alfalfa Supremi	52	20.983	\$435.00	\$9,127.60
TCNU2194718	A1513235	Alfalfa Supremi	52	21.101	\$435.00	\$9,178.93
TLLU8140242	A1513248	Alfalfa Supremi	52	20.040	\$435.00	\$8,717.40
TRHU7152107	A1518656	Alfalfa Supremi	52	20.611	\$435.00	\$8,965.78
TRHU7827330	A1513233	Alfalfa Supremi	52	21.083	\$435.00	\$9,171.10
Total Value:			1,300	522.766		\$227,403.14
Deposit (\$150/MT):					\$78,414.90	
Downpay Payment:						\$148,988.24
Remaining Balance:						\$.00

Commodity	Crude Protein	Moisture	RFV	ASH
Alfalfa Hay(Supreme)	>=22	<=14	>=185	<=12

GREEN COLOR, LITTLE TO NO BLEACH, NO MILDEW, NO DIRT.

PACKING: FIT FOR OCEAN TRANSPORTATION AND NON WOOD PACKAGING, EACH BALE IS APPROX. 420-460KG

By Healthy Green Life Corporation

ABTHORIZED SIGNATURE

| OS/31/1979 | OS/31/1979



GI-C00-44533-660bfa89689df/April 02, 20